

			Vendor Ranking		Page 1 of 1				
Letting:	08230509	May 09, 2023 02:30 PM	Call Order: 013	Contract:	E8U28				
District:	Turnpike		Counties: TURNPIKE	Fed Aid No	: N/A				
Contract Time:	86 CALEND	AR DAYS	Project(s):	44261825201 (*)					
Contract Desc:	REPLACE C	REPLACE GREAT SYSTEM & HEXFOAM CRASH CUSHIONS							

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	JACK B HARPER CONTRACTOR, LLC	Responsive	Winning bid	\$491,220.80	100.00% Intent to Award
2	PROFESSIONAL HIGHWAY MAINTENANC	Responsive	Non-Winning Bid	\$504,136.30	102.63%
3	ATLANTIC CIVIL CONSTRUCTORS CORP	Responsive	Non-Winning Bid	\$595,198.11	121.17%
4	ALEXANDER DESIGN + BUILD, LLC	Responsive	Non-Winning Bid	\$625,652.30	127.37%
5	LEON AMERICA CONSTRUCTION	Responsive	Non-Winning Bid	\$891,437.72	181.47%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: May 23, 2023 AT 4:00 PM



Page 1 of 6

Tabulation of Bids

Letting:	08230509	May 09, 2023	Call Order:	013	Contract:	E8U28
District:	Turnpike		Counties:	TURNPIKE	Fed Aid No	: N/A
Contract Time:	86 CALENDA	R DAYS			Project(s):	44261825201 (*)

Contract Descr: REPLACE GREAT SYSTEM & HEXFOAM CRASH CUSHIONS

Work consists of providing all labor, materials, equipment and incidentals necessary for replacing Great System & Hexfoam Crash Cushions along SR 417 from MP 1.350 to MP 3.650 in Osceola County. No Pre-Bid Conference.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is pregualified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the AASHTOWare Project Bids application. BDI Reference Sheet may be found at https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Line No / Item ID Alternate Item Description	Quantity Units	(1) JACK B CONTRAC		(2) PROFESSION MAINTE		• •	NTIC CIVIL CTORS CORP
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway						
0005 0101 1 MOBILIZATION 44261825201	(1.000) LS	75,000.00000	75,000.00	20,000.00000	20,000.00	65,303.68000	65,303.68



Tabulation of Bids

Page 2 of 6

Letting: 082	230509 Ma	y 09, 2023	Cal	I Order: 013		Contract:	E8U28	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) JACK B CONTRAC		(2) PROFESSIO MAINTE			ITIC CIVIL TORS CORP
() indicates item is bid	as Lump Sum	U	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 Ro	oadway						
0010 0102 1 MAINTENANCE OF TR. 44261825201	AFFIC	(86.000) DA (LS)	27,527.00000	27,527.00	45,000.00000	45,000.00	61,389.65000	61,389.65
0015 0102 14 TRAFFIC CONTROL OF	FICER	860.000 HR	97.50000	83,850.00	90.00000	77,400.00	95.71000	82,310.60
0020 0102 60 WORK ZONE SIGN		3,960.000 ED	1.00000	3,960.00	1.00000	3,960.00	0.26000	1,029.60
0025 0102 74 1 CHANNELIZING DEVIC VP, DRUM, OR LCD	E- TYPES I, II, D	4,263.000 N, ED	0.50000	2,131.50	1.00000	4,263.00	0.14000	596.82
0030 0102 76 ARROW BOARD / ADV, ARROW PANEL	ANCE WARNING	71.000 G ED	25.00000	1,775.00	10.00000	710.00	6.04000	428.84
0035 0102 99 PORTABLE CHANGEA SIGN, TEMPORARY	BLE MESSAGE	638.000 ED	50.00000	31,900.00	10.00000	6,380.00	11.08000	7,069.04
0040 0102115 TYPE III BARRICADE		40.000 ED	1.00000	40.00	3.00000	120.00	0.35000	14.00
0045 0110 1 1 CLEARING & GRUBBIN	IG 44261825201	(0.040) AC (LS)	1,500.00000	1,500.00	20,000.00000	20,000.00	37,014.98000	37,014.98
0050 0544 2 1 CRASH CUSHION, TL-2	2, NARROW	3.000 EA	14,128.00000	42,384.00	17,200.00000	51,600.00	20,931.49000	62,794.47



Tabulation of Bids

Page 3 of 6

Letting:	08230509	May 09, 2023	Cal	I Order: 013		Contract:	E8U28	
Line No / Iten Item Descript		e Quantity Units	(1) JACK B CONTRAC		(2) PROFESSION MAINTE			NTIC CIVIL
() indicates iter	n is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTI	ON: 0001	Roadway						
0055 0544 3 CRASH CUSHIO	1 N, TL-3, NARROW	9.000 EA	20,600.00000	185,400.00	26,550.00000	238,950.00	26,832.57000	241,493.13
0060 0999 16 PARTNERING, D 44261825201		(1.000) LS	3,000.00000	3,000.00	3,000.00000	3,000.00	3,000.00000	3,000.00
0065 0999 25 INITIAL CONTIN NOT BID 442618	GENCY AMOUNT,	(1.000) DO LS	32,753.30000	32,753.30	32,753.30000	32,753.30	32,753.30000	32,753.30
	0001 Roadway S	Section Totals:		\$491,220.80		\$504,136.30		\$595,198.11
	Contract G	rand Totals:		\$491,220.80		\$504,136.30		595,198.11



Tabulation of Bids

Page 4 of 6

Letting: 08230509 Ma	ay 09, 2023	Cal	l Order: 013		Contract:	E8U28	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ALEXANDE BUILD		(5) LEON A CONSTR	AMERICA UCTION		
() indicates item is bid as Lump Sum	••••••	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro	oadway				1		
0005 0101 1 MOBILIZATION 44261825201	(1.000) LS	50,000.00000	50,000.00	90,000.00000	90,000.00		
0010 0102 1 MAINTENANCE OF TRAFFIC 44261825201	(86.000) DA (LS)	150,000.00000	150,000.00	90,000.00000	90,000.00		
0015 0102 14 TRAFFIC CONTROL OFFICER	860.000 HR	0.00000	0.00	60.00000	51,600.00		
0020 0102 60 WORK ZONE SIGN	3,960.000 ED	0.00000	0.00	0.26000	1,029.60		
0025 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, I VP, DRUM, OR LCD	4,263.000 DI, ED	0.00000	0.00	0.14000	596.82		
0030 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL	71.000 G ED	0.00000	0.00	6.00000	426.00		
0035 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	638.000 ED	0.00000	0.00	11.00000	7,018.00		
0040 0102115 TYPE III BARRICADE	40.000 ED	0.00000	0.00	0.35000	14.00		
0045 0110 1 1 CLEARING & GRUBBING 44261825201	(0.040) AC (LS)	20,500.00000	20,500.00	60,000.00000	60,000.00		



Tabulation of Bids

Page 5 of 6

Letting: 08230509 Ma	ay 09, 2023	Cal	I Order: 013		Contract:	E8U28	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ALEXANDE BUILD		(5) LEON A CONSTR			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R	oadway						
0050 0544 2 1 CRASH CUSHION, TL-2, NARROW	3.000 EA	22,855.00000	68,565.00	35,000.00000	105,000.00		
0055 0544 3 1 CRASH CUSHION, TL-3, NARROW	9.000 EA	33,426.00000	300,834.00	50,000.00000	450,000.00		
0060 0999 16 PARTNERING, DO NOT BID 44261825201	(1.000) LS	3,000.00000	3,000.00	3,000.00000	3,000.00		
0065 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID 44261825201	(1.000) LS	32,753.30000	32,753.30	32,753.30000	32,753.30		
0001 Roadway Sec	tion Totals:		\$625,652.30		\$891,437.72		

Contract Grand Totals:

\$625,652.30

\$891,437.72

FDOT
Y

Page 6 of 6

Letting:	08230509	May 09, 2023	Call Order: 013	Contract:	E8U28				
NOTE: Failure to file a protest within the time prescribed in section									

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.